| Efficiency vs Dxy |
> 0.1
<

i®)
.09
>
3.08
k)
D.07
©
0.06
0.05
0.04
0.03

0.02

0.01{ 11
o+

Rati

0955 20-15-10 -5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_CKF_TTbase

| Efficiency vs Dz |

—— DQM_CKF_TT_retrainOIldFiles125 v2_prelimWP

N 0.2
1S) : : : : :
L S S S S
> F 5 5 5 5 5
s e s e S
(&) o H H H H H
.14 proneerene Froverereees Frrereeeener AR A
® 5 5 5 5 5
{EHRIIS IS NS NS Snm—,
NS S S SRS SRS W N
0.08 ' ' '

0.06

0.04 -t I1:t

0.02f- (111t
o+

TTT [ LT T [TT1T

S
——

—
o :
s :
——

. ol

Rati

Fo-e----ol-cllel--- -0 i 3 -0

[
LIS L
*
rs
> 4
> 4

T
&

093520 -10 0 10 20 30

TP dz (cm)

|
W
o



	Contents
	Page 1


